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1 2,000x 10/5 x 5 20,000
P52 6 v 36+36 10 / 20,000+ 9.8 2,040 kgf /
' 2,040+ 75 27 PS
20,000+ 735 27 PS
3 bha®  _2bha? bhs®  _2bha?
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x 10 10 k! kJ kg % ! mik?t Qm
n 7.1 420 30.3 0.389 116 5.9 hcp
Al 2.7 660 23.2 0.904 237 2.7 fcc
Au 19.3 1,063 14.2 0.129 317 2.4 fcc
Ag 10.5 961 19.0 0.236 429 1.6 fcc
Cr 7.2 1,890 4.5 0.456 93.7 12.9 bcc
Sn 7.3 232 22.2 0.227 66.6 11 hep
W 19.3 3,387 4.5 0.132 174 5.6 bcc
Ti 4.5 1,675 8.7 0.523 21.9 42 hcp bee
Fe 7.9 1,535 11.9 0.444 80.2 9.7 bcc fecc
Cu 9.0 1,084 16.6 0.385 401 1.7 fcc
Pb 11.4 327 29.0 0.128 35.3 20.6 hep
Ni 8.9 1,455 13.5 0.446 90.7 6.8 fcc
Pt 21.5 1,772 8.8 0.132 71.6 10.6 fcc
Vv 6.1 1,890 8.5 0.490 30.7 25.0 bcc
Mg 1.7 650 25.0 1.025 156 4.5 hep
Mn 7.4 1,245 21.9 0.477 7.6 185 bcc
Mo 10.2 2,610 4.8 0.255 138 5.2 bcc




